# THE MAXIMUM LIKELIHOOD METHOD FOR TESTING CHANGES IN THE PARAMETERS OF NORMAL OBSERVATIONS

#### By Lajos Horváth

### University of Utah

We compute the asymptotic distribution of the maximum likelihood ratio test when we want to check whether the parameters of normal observations have changed at an unknown point. The proof is based on the limit distribution of the largest deviation between a d-dimensional Ornstein-Uhlenbeck process and the origin.

**1. Introduction.** Let  $X_1, X_2, \ldots, X_n$  be independent normal random variables with parameters  $(\mu_1, \sigma_1^2), (\mu_2, \sigma_2^2), \ldots, (\mu_n, \sigma_n^2)$ , where, as usual,

(1.1) 
$$\mu_i = EX_i \text{ and } \sigma_i^2 = \operatorname{var} X_i, \quad 1 \le i \le n.$$

We want to test

(1.2) 
$$H_0$$
:  $\mu_1 = \mu_2 = \cdots = \mu_n$  and  $\sigma_1 = \sigma_2 = \cdots = \sigma_n$  against the alternative

(1.3) 
$$H_A: \ \mu_1 = \mu_2 = \cdots = \mu_{[n\tau]} \neq \mu_{[n\tau]+1} = \cdots = \mu_n$$
or  $\sigma_1 = \sigma_2 = \cdots = \sigma_{[n\tau]} \neq \sigma_{[n\tau]+1} = \cdots = \sigma_n$ 
for some  $\tau \in (0, 1)$ 

Under the alternative hypothesis we can have change in the mean or in the variance or in both.

Testing (1.1) against the stronger alternative

(1.4) 
$$H_A^*$$
:  $\sigma_1 = \sigma_2 = \cdots = \sigma_n$  and  $\mu_1 = \mu_2 = \cdots = \mu_{[n\tau]} \neq \mu_{[n\tau]+1} = \cdots = \mu_n$  for some  $\tau \in (0, 1)$ 

has received considerable attention in the literature. Under  $H_A^*$  we can have change only in the mean; the variances remain the same. Page (1954, 1955) considered a very simple procedure for testing  $H_0$  against  $H_A^*$ . Sen and Srivastava (1975a, b), Srivastava and Worsley (1986), Yao and Davis (1986), James, James and Siegmund (1987) and Worsley (1986) derived tests for  $H_0$  against  $H_A^*$  using the likelihood ratio. Yao and Davis (1986) obtained the asymptotic distribution of the likelihood ratio. For further results the asymptotic distributions of these and related statistics we refer to Csörgő and Horváth (1988) and Gombay and Horváth (1990).

The maximum likelihood method can be used when we want to test  $H_0$  against the more general alternative  $H_A$ . It is easy to show that the likelihood

Received December 1991; revised July 1992.

AMS 1991 subject classifications. Primary 62F03; secondary 62F05.

Key words and phrases. Darling-Erdős-type limit theorems, maximum likelihood, strong approximation.

ratio is

$$\Lambda_n = \max_{1 < k < n-1} \frac{\hat{\sigma}_n^n}{\hat{\sigma}_k^k \check{\sigma}_{n-k}^{n-k}},$$

where

$$\hat{\sigma}_k^2 = rac{1}{k} \sum_{1 \leq i \leq k} \left( X_i - \hat{X}_k 
ight)^2, \qquad \check{\sigma}_{n-k}^2 = rac{1}{n-k} \sum_{k < i \leq n} \left( X_i - \check{X}_{n-k} 
ight)^2,$$
  $\hat{X}_k = rac{1}{k} \sum_{1 \leq i \leq k} X_i, \qquad \qquad \check{X}_{n-k} = rac{1}{n-k} \sum_{k \leq i \leq n} X_i.$ 

The main aim of our paper is the computation of the asymptotic distribution of

$$(1.5) \quad \lambda_n = \left( \max_{1 < k < n-1} \left( n \log \hat{\sigma}_n^2 - k \log \hat{\sigma}_k^2 - (n-k) \log \check{\sigma}_{n-k}^2 \right) \right)^{1/2}.$$

In order to state our main result we must introduce the following functions:

(1.6) 
$$a(x) = (2\log x)^{1/2},$$

$$(1.7) b(x) = 2\log x + \log\log x.$$

Let Y be a r.v. satisfying

(1.8) 
$$P\{Y \le x\} = \exp(-2e^{-x})$$
 for all  $x$ .

THEOREM 1.1. If  $H_0$  holds, then as  $n \to \infty$ ,

$$a(\log n)\lambda_n - b(\log n) \to_{\mathscr{D}} Y.$$

The assumption that the observations are normal can be dropped. For example, the conclusion of Theorem 1.1 remains true, if in addition to (1.1) it is also assumed that  $E(X_i - \mu)^3 = 0$  and  $E\{(X_i - \mu)/\sigma\}^4 = 3$ , where  $\mu$  and  $\sigma^2$  are the common mean and variances under  $H_0$ . This means that the first four moments of  $(X_i - \mu)/\sigma$  must be the same as of the standard normal distribution.

The proof of Theorem 1.1 is based on a generalization of the limit theorem in Darling and Erdős (1956) for standardized random vectors. The following section contains the Darling-Erdős-type result and its proof. Both Lemmas 2.1 and 2.2 may have further applications in change-point analysis. Theorem 1.1 is proven in Section 3.

We performed Monte Carlo simulations to demonstrate that the asymptotic distribution in Theorem 1.1 can be used in case of moderate sample sizes. Let  $F_n(t) = P\{a(\log n)\lambda_n - b(\log n) \le t\}$  and  $F(t) = \exp(-2e^{-t})$ . The simulations of  $F_{20}(t)$ ,  $F_{50}(t)$  and  $F_{100}(t)$  are based on 2000 repetitions in each case, and the standard error is less than 0.001 for all t. The fit is good on the upper tail. The rate of convergence of  $F_n(t)$  to F(t) is very slow, but the interval on the upper tail when we have good approximation is increasing when the sample size is

increasing. It turns out that the largest deviation between  $F_n(t)$  and F(t) occurs about the median. Let  $z(\alpha,n)$  and  $z(\alpha)$  denote the  $100\alpha\%$  quantiles of  $F_n$  or F; that is,  $F(z(\alpha,n))=\alpha$  and  $F(z(\alpha))=\alpha$ . The Monte Carlo simulation gave the following numerical values:  $z(0.9,20)=3.12,\ z(0.95,20)=3.59,\ z(0.99,20)=4.57;\ z(0.9,50)=3.14,\ z(0.95,50)=3.60,\ z(0.99,50)=4.54;\ and\ z(0.9,100)=3.05,\ z(0.95,100)=3.60,\ z(0.99,100)=4.61.$  Using the asymptotic distribution we get that  $z(0.9)=2.94,\ z(0.95)=3.66$  and z(0.99)=5.29.

## 2. Darling-Erdős-type results for vectors. Let

$${V_1(t), 0 \le t < \infty}, \dots, {V_d(t), 0 \le t < \infty}$$

be independent identically distributed Ornstein-Uhlenbeck processes with  $EV_i(t) = 0$  and  $EV_i(t)V_i(s) = \exp(-|t-s|/2)$ ,  $1 \le i \le d$ . Next we define

(2.1) 
$$N(t) = \left(\sum_{1 \le i \le d} V_i^2(t)\right)^{1/2},$$

which is just the distance between  $(V_1(t), \ldots, V_d(t))$  and **0**. Let  $Y^*$  be a random variable with distribution function  $\exp(-e^{-x})$  and define

(2.2) 
$$b_d(t) = 2\log t + \frac{d}{2}\log\log t - \log\Gamma\left(\frac{d}{2}\right),$$

where  $\Gamma(t)$  is the Gamma function. Since  $\Gamma(1/2) = \pi^{1/2}$ , the following result reduces to Theorem 2 of Darling and Erdős (1956) when d = 1.

Lemma 2.1. As  $T \to \infty$ ,

(2.3) 
$$a(T) \sup_{0 \le t \le T} N(t) - b_d(T) \rightarrow_{\mathscr{D}} Y^*.$$

PROOF. The process  $\{N(t), 0 \le t < \infty\}$  is a diffusion process and its initial distribution is the square root of the  $\chi^2$ -distribution with d degrees of freedom. The backward equation associated with N(t) is

$$\frac{\partial u}{\partial t} = \frac{1}{2} \frac{\partial^2 u}{\partial x^2} + \frac{1}{2} \left( \frac{d-1}{x} - x \right) \frac{\partial u}{\partial x}$$

with boundary condition

$$\lim_{x \downarrow 0} x^{d-1} \frac{\partial u}{\partial x} = 0$$

[cf. Itô and McKean (1965), pages 162–163]. Using Theorem 1 of Mandl [(1968), page 102] we get [cf. also Ronzhin (1985)].

(2.4) 
$$\lim_{M \to \infty} P \left\{ \sup_{0 < t < u \neq (M)} N(t) < M \right\} = e^{-u}$$

for all  $u \geq 0$ , where

(2.5) 
$$\gamma(M) = 2^{d/2} \Gamma(d/2) M^{-d} e^{M^2/2}.$$

For each  $x \in (-\infty, \infty)$  and T > 0 there is a unique M such that  $\gamma(M) = Te^x$ , and therefore by (2.4) we have

(2.6) 
$$\lim_{T \to \infty} P \left\{ \sup_{0 < t < T} N(t) \le \gamma^{-1}(Te^x) \right\} = \exp(-e^{-x}).$$

It is easy to verify that

$$\gamma \left( \frac{x}{(2\log T)^{1/2}} + (2\log T)^{1/2} + \frac{(d/2)\log\log T}{(2\log T)^{1/2}} - \frac{\log\Gamma(d/2)}{(2\log T)^{1/2}} \right)$$

$$= Te^{x} \left\{ 1 + O\left(\frac{(\log\log T)^{2}}{\log T}\right) \right\}$$

as  $T \to \infty$ , and thus (2.6) yields Lemma 2.1.  $\square$ 

Let  $\{(Z_i^{(1)},\ldots,Z_i^{(d)}),\ 1\leq i<\infty\}$  be independent identically distributed random vectors, and define

$$S^{(i)}(k) = \sum_{1 \leq j \leq k} Z_j^{(i)}, \qquad 1 \leq i \leq d.$$

LEMMA 2.2. Assume that  $EZ_1^{(1)}=EZ_1^{(2)}=\cdots=EZ_1^{(d)}=0$ , the covariance matrix of  $(Z_1^{(1)},\ldots,Z_1^{(d)})$  is the identity matrix and

(2.8) 
$$\max_{1 \le i \le d} E |Z_1^{(i)}|^r < \infty \quad \text{for some } r > 2.$$

Then, as  $n \to \infty$ ,

$$(2.9) \quad a(\log n) \max_{1 \le k \le n} \left( \sum_{1 \le i \le d} \left( k^{-1/2} S^{(i)}(k) \right)^2 \right)^{1/2} - b_d(\log n) \to_{\mathscr{D}} Y^*.$$

PROOF. By Einmahl (1989) we can define d independent Wiener processes  $W_1(t), \ldots, W_d(t)$  such that

(2.10) 
$$\max_{1 \le i \le d} \sup_{1 \le t \le T} \left| S^{(i)}(t) - W_i(t) \right| =_{\text{a.s.}} o(T^{1/r}).$$

Next we observe that

$$(2.11) \quad \left\{ \left( \sum_{1 \le i \le d} \left( t^{-1/2} W_i(t) \right)^2 \right)^{1/2}, 1 \le t < \infty \right\} =_{\mathscr{D}} \left\{ N(\log t), 1 \le t < \infty \right\},$$

where N(t) is defined by (2.1). Let  $\nu = 2r/(r-2)$ . Now (2.10) and the law of

iterated logarithm imply

(2.12) 
$$a(\log n) \sup_{(\log n)^{\nu} \le t \le n} \left| \left( \sum_{1 \le i \le d} \left( t^{-1/2} S^{(i)}(t) \right)^{2} \right)^{1/2} - \left( \sum_{1 \le i \le d} \left( t^{-1/2} W_{i}(t) \right)^{2} \right)^{1/2} \right| =_{\text{a.s.}} o(1).$$

Using again the law of iterated logarithm it can be established that

(2.13) 
$$a(\log n) \sup_{1 \le t \le (\log n)^{\nu}} \left( \sum_{1 \le i \le d} \left( t^{-1/2} S^{(i)}(t) \right)^{2} \right)^{1/2} - \left( b_{d}(\log n) + x \right) \to_{P} - \infty$$

and

(2.14) 
$$a(\log n) \sup_{1 \le t \le (\log n)^{\nu}} \left( \sum_{1 \le i \le d} \left( t^{-1/2} W_i(t) \right)^2 \right)^{1/2} - \left( b_d(\log n) + x \right) \to_P - \infty$$

for all x. Hence Lemma 2.2 follows from Lemma 2.1 and (2.11)–(2.14).

**3. Proof of Theorem 1.1.** It is easy to see that linear transformation of the data does not change the values of  $\lambda_n$  and therefore it can be assumed that  $\mu = 0$  and  $\sigma^2 = 1$ . The proof is based on the observation that the asymptotic distribution of  $\lambda_n$  is determined by

$$\max \left\{ \max_{\substack{\log n \le k \le n/\log n}} \left( n \log \hat{\sigma}_n^2 - k \log \hat{\sigma}_k^2 - (n-k) \log \check{\sigma}_{n-k}^2 \right)^{1/2}, \right.$$
$$\left. \max_{\substack{n-n/\log n \le k \le n-\log n}} \left( n \log \hat{\sigma}_n^2 - k \log \hat{\sigma}_k^2 - (n-k) \log \check{\sigma}_{n-k}^2 \right)^{1/2} \right\}.$$

A three-term Taylor expansion gives

$$\eta_{k} = n \log \hat{\sigma}_{n}^{2} - k \log \hat{\sigma}_{k}^{2} - (n - k) \log \check{\sigma}_{n-k}^{2} \\
= n(\hat{\sigma}_{n}^{2} - 1) - k(\hat{\sigma}_{k}^{2} - 1) - (n - k)(\check{\sigma}_{n-k}^{2} - 1) \\
- \frac{1}{2}n(\hat{\sigma}_{n}^{2} - 1)^{2} + \frac{1}{2}k(\hat{\sigma}_{k}^{2} - 1)^{2} + \frac{1}{2}(n - k)(\check{\sigma}_{n-k}^{2} - 1)^{2} \\
+ \frac{1}{3}(\xi_{n}^{(1)})^{-3}n(\hat{\sigma}_{n}^{2} - 1)^{3} \\
- \frac{1}{3}(\xi_{k}^{(2)})^{-3}k(\hat{\sigma}_{k}^{2} - 1)^{3} - \frac{1}{3}(\xi_{n-k}^{(3)})^{-3}(n - k)(\check{\sigma}_{n-k}^{2} - 1)^{3},$$

where  $|\xi_n^{(1)}-1| \le |\hat{\sigma}_n^2-1|$ ,  $|\xi_k^{(2)}-1| \le |\hat{\sigma}_k^2-1|$  and  $|\xi_{n-k}^{(3)}-1| \le |\check{\sigma}_{n-k}^2-1|$ . Simple algebra shows that

(3.2) 
$$n(\hat{\sigma}_{n}^{2}-1)-k(\hat{\sigma}_{k}^{2}-1)-(n-k)(\check{\sigma}_{n-k}^{2}-1) = k\hat{X}_{k}^{2}+(n-k)\check{X}_{n-k}^{2}-n\hat{X}_{n}^{2}$$

and

$$n(\hat{\sigma}_{n}^{2}-1)^{2}-k(\hat{\sigma}_{k}^{2}-1)^{2}-(n-k)(\check{\sigma}_{n-k}^{2}-1)^{2}$$

$$=\frac{1}{n}\Big(\sum_{1\leq i\leq n}(X_{i}^{2}-1)\Big)^{2}-\frac{1}{k}\Big(\sum_{1\leq i\leq k}(X_{i}^{2}-1)\Big)^{2}$$

$$-\frac{1}{n-k}\Big(\sum_{k< i\leq n}(X_{i}^{2}-1)\Big)^{2}$$

$$-2\hat{X}_{n}^{2}\sum_{1\leq i\leq n}(X_{i}^{2}-1)+n\hat{X}_{n}^{4}+2\hat{X}_{k}^{2}\sum_{1\leq i\leq k}(X_{i}^{2}-1)-k\hat{X}_{k}^{4}$$

$$+2\check{X}_{n-k}^{2}\sum_{k< i\leq n}(X_{i}^{2}-1)-(n-k)\check{X}_{n-k}^{4}.$$

The law of iterated logarithm yields

(3.4) 
$$\max_{1 \le k \le n} k^{1/2} (\log \log k)^{-3/2} \left| \xi_k^{(2)} k (\hat{\sigma}_k^2 - 1)^3 \right| = O_P(1),$$

$$(3.5) \max_{1 \le k \le n} (n-k)^{1/2} (\log \log (n-k))^{-3/2} \left| \xi_{n-k}^{(3)} (n-k) (\check{\sigma}_{n-k}^2 - 1)^3 \right| = O_P(1),$$

(3.6) 
$$\max_{1 \le k \le n} k^{1/2} (\log \log k)^{-3/2} \hat{X}_k^2 \Big| \sum_{1 \le i \le k} (X_i^2 - 1) \Big| = O_P(1),$$

(3.7) 
$$\max_{1 \le k \le n} \left( \frac{k}{\log \log k} \right)^2 \hat{X}_k^4 = O_P(1),$$

(3.8) 
$$\max_{1 \le k < n} (n - k)^{1/2} (\log \log (n - k))^{-3/2} \check{X}_{n-k}^2 \Big| \sum_{k < i \le n} (X_i^2 - 1) \Big| = O_P(1)$$

and

(3.9) 
$$\max_{1 \le k < n} \left( \frac{n - k}{\log \log(n - k)} \right)^2 \check{X}_{n-k}^4 = O_P(1).$$

Thus we can write

(3.10) 
$$\eta_k = A_k^{(1)} + A_k^{(2)} + R_k^{(1)} + R_k^{(2)}$$

where

$$\begin{split} A_k^{(1)} &= k\hat{X}_k^2 + (n-k)\check{X}_{n-k}^2 - n\hat{X}_n^2, \\ A_k^{(2)} &= \frac{1}{2k} \bigg(\sum_{1 \leq i \leq k} \left(X_i^2 - 1\right)\bigg)^2 + \frac{1}{2(n-k)} \bigg(\sum_{k < i \leq n} \left(X_i^2 - 1\right)\bigg)^2 \\ &- \frac{1}{2n} \bigg(\sum_{1 \leq i \leq n} \left(X_i^2 - 1\right)\bigg)^2, \\ R_k^{(1)} &= \frac{1}{3} \big(\xi_n^{(1)}\big)^{-3} n \big(\hat{\sigma}_n^2 - 1\big)^3 - \frac{1}{3} \big(\xi_k^{(2)}\big)^{-3} k \big(\hat{\sigma}_k^2 - 1\big)^3 \\ &+ \hat{X}_n^2 \sum_{1 \leq i \leq n} \left(X_i^2 - 1\right) - \frac{n}{2} \hat{X}_n^4 - \hat{X}_k^2 \sum_{1 \leq i \leq k} \left(X_i^2 - 1\right) + \frac{k}{2} \hat{X}_k^4 \end{split}$$

and

$$\begin{split} R_k^{(2)} &= \frac{1}{3} \left( \xi_{n-k}^{(3)} \right)^{-3} (n-k) \left( \breve{\sigma}_{n-k}^2 - 1 \right)^3 + \frac{n-k}{2} \breve{X}_{n-k}^4 \\ &- \breve{X}_{n-k}^2 \sum_{k < i < n} \left( X_i^2 - 1 \right). \end{split}$$

By (3.4)–(3.9),  $R_k^{(1)}$  and  $R_k^{(2)}$  satisfy

(3.11) 
$$\max_{\substack{1 \le k \le n \\ 1 \le k \le n}} k^{1/2} (\log \log k)^{-3/2} |R_k^{(1)}| = O_P(1),$$

(3.12) 
$$\max_{1 \le k \le n} (n - k)^{1/2} (\log \log (n - k))^{-3/2} |R_k^{(2)}| = O_P(1).$$

Combining the law of iterated logarithm with (3.10)-(3.12) we get

(3.13) 
$$a^{2}(\log n) \max_{1 \leq k \leq \log n} \eta_{k} - (x + b(\log n))^{2} \rightarrow_{p} - \infty,$$

$$(3.14) a^{2}(\log n) \max_{1 \le k \le \log n} \left( A_{k}^{(1)} + A_{k}^{(2)} \right) - \left( x + b(\log n) \right)^{2} \to_{P} - \infty,$$

(3.15) 
$$a^{2}(\log n) \max_{n = \log n < k < n} \eta_{k} - (x + b(\log n))^{2} \to_{P} - \infty,$$

$$(3.16) \quad a^{2}(\log n) \max_{n-\log n < k < n} \left(A_{k}^{(1)} + A_{k}^{(2)}\right) - \left(x + b(\log n)\right)^{2} \to_{P} - \infty$$

for all x and

(3.17) 
$$a^{2}(\log n) \max_{\log n < k < n - \log n} \left| \eta_{k} - \left( A_{k}^{(1)} + A_{k}^{(2)} \right) \right| = o_{P}(1).$$

Thus Theorem 1.1 is proven if

(3.18) 
$$\lim_{n \to \infty} P\left\{a^2(\log n) \max_{1 \le k < n} \left(A_k^{(1)} + A_k^{(2)}\right) \le \left(x + b(\log n)\right)^2\right\}$$
$$= \exp(-2e^{-x})$$

is established.

Observing that

$$(3.19) \qquad (n-k)X_{n-k}^2 - n\hat{X}_n^2 \\ = \frac{k}{n(n-k)} \Big(\sum_{1 \le i \le n} X_i\Big)^2 - \frac{2}{n-k} \sum_{1 \le i \le n} X_i \sum_{1 \le j \le k} X_j \\ + \frac{1}{n-k} \Big(\sum_{1 \le i \le k} X_i\Big)^2,$$

we obtain

(3.20) 
$$a^{2}(\log n) \max_{1 \leq k \leq n / \log n} \left| (n-k) \breve{X}_{n-k}^{2} - n \hat{X}_{n}^{2} \right| = o_{P}(1).$$

Similar arguments give

(3.21) 
$$\frac{a^{2}(\log n) \max_{1 \leq k \leq n/\log n} \left| \frac{1}{n-k} \left( \sum_{k < i \leq n} \left( X_{i}^{2} - 1 \right) \right)^{2} - \frac{1}{n} \left( \sum_{1 \leq i \leq n} \left( X_{i}^{2} - 1 \right) \right)^{2} \right| = o_{P}(1).$$

Using Theorem 2 of Darling and Erdős (1956) we get

(3.22) 
$$\max_{n/\log n \le k \le n - n/\log n} |A_k^{(1)} + A_k^{(2)}| = O_P(\log \log \log n),$$

and therefore for all x,

(3.23) 
$$\frac{a^{2}(\log n) \max_{n/\log n \le k \le n - n/\log n} \left(A_{k}^{(1)} + A_{k}^{(2)}\right)}{-\left(x + b(\log n)\right)^{2} \to_{P} - \infty.}$$

Similarly to (3.20) and (3.21) we obtain

(3.24) 
$$a^{2}(\log n) \max_{n-n/\log n \le k < n} \left| k\hat{X}_{k}^{2} - n\hat{X}_{n}^{2} \right| = o_{P}(1)$$

and

(3.25) 
$$a^{2}(\log n) \max_{n-n/\log n \le k < n} \left| \frac{1}{k} \left( \sum_{1 \le i \le k} (X_{i}^{2} - 1) \right)^{2} - \frac{1}{n} \left( \sum_{1 \le i \le n} (X_{i}^{2} - 1) \right)^{2} \right| = o_{P}(1).$$

Now (3.20)-(3.25) yield

$$\lim_{n \to \infty} P \left\{ a^{2} (\log n) \max_{1 \le k < n} \left( A_{k}^{(1)} + A_{k}^{(2)} \right) \le \left( x + b (\log n) \right)^{2} \right\}$$

$$= \lim_{n \to \infty} P \left\{ a^{2} (\log n) \max \left( \max_{1 \le k \le n / \log n} \left( \left( k^{-1/2} \sum_{1 \le i \le k} X_{i} \right)^{2} + \left( k^{-1/2} \sum_{1 \le i \le k} \frac{X_{i}^{2} - 1}{2^{1/2}} \right) \right)^{2}, \right\}$$

$$+ \left( k^{-1/2} \sum_{1 \le i \le k} \frac{X_{i}^{2} - 1}{2^{1/2}} \right)^{2},$$

$$+ \left( (n - k)^{-1/2} \sum_{k < i \le n} X_{i} \right)^{2}$$

$$+ \left( (n - k)^{-1/2} \sum_{k < i \le n} \frac{X_{i}^{2} - 1}{2^{1/2}} \right)^{2} \right) \le (x + b (\log n))^{2}.$$

Since  $\{X_i,\ 1\leq i\leq n/\log n\}$  and  $\{X_i,\ n-n/\log n\leq i\leq n\}$  are independent and  $\operatorname{var} X_i = \operatorname{var}((X_i^2-1)/2^{1/2}) = 1,\ EX_i(X_i^2-1) = 0,$  Lemma 2.2 implies

that

$$P \left\{ a(\log n) \max_{1 \le k \le n/\log n} \left( \left( k^{-1/2} \sum_{1 \le i \le k} X_i \right)^2 + \left( k^{-1/2} \sum_{1 \le i \le k} \frac{X_i^2 - 1}{2^{1/2}} \right)^2 \right)^{1/2} - b(\log n),$$

$$(3.27) \quad a(\log n) \max_{n - n/\log n \le k < n} \left( \left( (n - k)^{-1/2} \sum_{k < i \le n} X_i \right)^2 + \left( (n - k)^{-1/2} \sum_{k < i \le n} \frac{X_i^2 - 1}{2^{1/2}} \right)^2 \right)^{1/2}$$

$$-b(\log n) \right\} \rightarrow_{\mathscr{D}} \left\{ Y_1^*, Y_2^* \right\},$$

where  $Y_1^*$  and  $Y_2^*$  are independent, identically distributed random variables with distribution function  $\exp(-e^{-x})$ . This also completes the proof of Theorem 1.1.  $\square$ 

**Acknowledgments.** I am grateful to Edit Gombay and Antal Pákh for the Monte Carlo simulations.

#### REFERENCES

Csörgő, M. and Horváth, L. (1988). Nonparametric methods for changepoint problems. In *Handbook of Statistics* (P. R. Krishnaiah and C. R. Rao, eds.) **7** 403–425. North-Holland, Amsterdam.

Darling, D. A. and Erdős, P. (1956). A limit theorem for the maximum of normalized sums of independent random variables. *Duke Math. J.* 23 143–155.

EINMAHL, U. (1989). Extensions of results of Komlós, Major and Tusnády to the multivariate case.

J. Multivariate Anal. 28 20–68.

GOMBAY, E. and HORVÁTH, L. (1990). Asymptotic distributions of maximum likelihood tests for change in the mean. Biometrika 77 411–414.

Itô, K. and McKean, H. P. (1965). Diffusion Processes and Their Sample Paths. Springer, Berlin. James B., James, K. L. and Siegmund, D. (1987). Tests for a change-point. Biometrika 74 71–83. Mandl., P. (1968). Analytical Treatment of One-Dimensional Markov Processes. Springer, Berlin. Page, E. S. (1954). Continuous inspection schemes. Biometrika 41 100–115.

Page, E. S. (1955). A test for a change in a parameter occurring at an unknown point. *Biometrika* **42** 523–526.

RONZHIN, A. F. (1985). On the probability of exit from a square-root boundary by the norm of a Brownian motion. *Theory Probab. Appl.* **30** 160–162.

SEN, A. and SRIVASTAVA, M. S. (1975a). On tests for detecting change in mean. Ann. Statist. 3 98-108.

Sen, A. and Srivastava, M. S. (1975b). Some one-sided tests for change in level. *Technometrics* 17 61-64.

- Srivastava, M. S. and Worsley, K. J. (1986). Likelihood ratio tests for a change in the multivariate normal mean. J. Amer. Statist. Assoc. 81 199–204.
- Worsley, K. J. (1986). Confidence regions and tests for a change-point in a sequence of exponential family random variables. *Biometrika* **73** 91–104.
- YAO, Y.-C. and DAVIS, R. A. (1986). The asymptotic behaviour of the likelihood ratio statistic for testing a shift in mean in a sequence of independent normal variates. Sankhyā Ser. A 48 339–353.

DEPARTMENT OF MATHEMATICS UNIVERSITY OF UTAH SALT LAKE CITY, UTAH 84112